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Sodium thiosulfate titrant 0.025N WP71781

IODINE SOLUTION  .025N    1L W2410

Starch Solution, 4L W2379

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:
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1 PB117663BL 50 15:2503/06/20190.004.604.600.005.005.031 0.000.40

2 PB117663BS 50 15:2803/06/2019199.602.082.080.005.005.051250 2.522.92

3 K1725-01 50 15:3203/06/201919.124.364.360.005.005.021 0.240.64

4 K1725-01DUP 50 15:3503/06/201920.634.348.704.365.005.041 0.260.66

5 K1725-01MS 50 15:3803/06/2019171.092.442.440.005.005.051250 2.162.56

6 K1725-01MSD 50 15:4003/06/2019172.672.424.862.445.005.051250 2.182.58

7 K1725-02 50 15:4203/06/201931.874.204.200.005.005.021 0.400.80

8 K1725-03 50 15:4503/06/201931.814.208.404.205.005.031 0.400.80

9 K1725-04 50 15:4803/06/201928.574.244.240.005.005.041 0.360.76

10 K1725-05 50 15:5003/06/201936.654.148.384.245.005.021 0.460.86

11 K1725-06 50 15:5203/06/201930.224.224.220.005.005.031 0.380.78
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Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1
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12 K1725-07 50 15:5503/06/201947.714.008.224.225.005.031 0.601.00

13 K1725-08 50 15:5803/06/201944.364.044.040.005.005.051 0.560.96

14 K1725-09 50 16:0203/06/201942.864.068.104.045.005.041 0.540.94

15 K1725-10 50 16:0503/06/201947.714.004.000.005.005.031 0.601.00

16 K1725-11 50 16:0803/06/201938.324.128.124.005.005.011 0.480.88

17 K1725-12 50 16:1203/06/201933.334.184.180.005.005.041 0.420.82

18 K1725-13 50 16:1503/06/201963.373.807.984.185.005.051 0.801.20

19 K1725-14 50 16:1803/06/201937.944.124.120.005.005.061 0.480.88

20 K1725-15 50 16:2003/06/201968.533.747.864.125.005.021 0.861.26

21 K1725-16 50 16:2203/06/201931.684.204.200.005.005.051 0.400.80

22 K1725-17 50 16:2503/06/201962.153.828.024.205.005.021 0.781.18
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23 K1725-18 50 16:2803/06/201945.944.024.020.005.005.051 0.580.98

24 K1725-19 50 16:3003/06/201945.764.028.044.025.005.071 0.580.98

25 K1725-20 50 16:3203/06/201937.944.124.120.005.005.061 0.480.88

26 K1725-21 50 16:3503/06/201977.623.627.744.125.005.051 0.981.38

Page 3 of 3

T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1


